Geometry

Chapter 7 — Similarity

Test Review
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2. Is ABAK ~ AJOL?
Explain why or why not.
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Find the perimeter of the larger pentagon
if the two pentagons are similar.
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3. Is AACE ~ ASPY?
Explain why or why not.
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roblems 4-6, complete each triangle similarity statement, and tell which conjecture
shows the similarity or write “not enough information.” All measures are in centimeters.
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8. If a 36 foot tree casts a 28 foot shadow at the same time a nearby building casts a

70 foot shadow, how tall is the building?
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For Problems 9 and 10, use the ﬁgure to complete each statement. mZJHG = 84°.
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9. ANABC :)LIH (,j by the Aﬁ "V Similarity Conjecture L 18

10. If HG =32 cm, then BC = 23 cm




11. Triangle XYZ is graphed below. Determine the coordinates of the triangle X*Y*Z’
after a d\i@@_rgsi\n&e@\@tgr. of 3. Draw and label triangle X*Y*Z’
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12. A statue that is 15 feet tall stands 20 feet from a light. If the light is 32 feet tall, how
long is the shadow cast by the statue? (Draw a plCt/_,Q_'[O model the situation, set up a
proportion, and solve)

1

%‘Bu - Z 32X = 5@)

A N BLx—))xt‘SLb
L,‘ﬁhi' —15x —\ox

| Tx=200 A
R

Grrue

13. A girl 160 cm tall, stands 360 cm from a lamp post at night. Her shadow from the
light is 90 cm long. How high is the lamp post? (Draw a picture to model the situation,
set up a proportion, and solve)




14. Determine whether the picture shows a reduction or enlargement. Then find the scale
factor of the image to the pre-image.
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15.  In the diagrams, AANG ~ AELG. Find the values of x and y. Then find the

scale factor of AANG to AELG.
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If mzA = 42° and mzAGN = 100°, what is m£L? ;
1801042 = 38
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